Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3340901 Date: 12/12/2015
Subject Name: Polyphase Transformer and AC Rotating Electrical Machines.

Time: 02:30 PM TO 5:00 PM

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten. 14
1.  The alternator output is given in MW while the transformer output is given in
MVA why ?
2. Locate the nose of transformer.
3. Whether the alternator is reversible. Explain.
4.  Calculate the approximate full load current of 20 H.P. 3 Phase induction
motor.
5.  Define follows: Slip
6. Distribution factor
7.  Coil-span factor
8.  Use of liquid contact switch
9.  Use of centrifugal switch
10. T.E.F.C. motor
Q.2 (a) Explain the construction of 3 phase transformer. 03
OR
(@) Explain the essential condition required for parallel operation of 3 phase 03
transformers.
(b) Explain the accessory of 50 MVA 3 phase transformer. 03
OR
(b)  Write the specification on name plate in 3 phase transformer. 03
(c) Write the ratings of 3 phase transformer. 04
OR
(c) Write the transformer winding are to be connected in parallel with vector 04
diagram.
(d) Explain the working of 3 phase induction motor. 04
OR
(d) Explain the types of 3 phase induction motor. 04
Q.3 (&) Explainthe D.O.L. starter of 3 phase induction motor. 03
OR
(@) Explain the star delta transformer in 3 phase induction motor. 03
(b) Explain the ratings on name plate on 3 phase induction motor. 03
OR
(b)  Write the short note on Linear induction motor. 03
(c) Write the application of 3 phase induction motor. 04
OR
(c) Explain the speed torque chrematistics of 3 phase induction motor. 04
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Explain the different power stages in 3 phase induction motor.
OR
Explain the condition to connect alternator to infinite busbar.

Write short note on cooling of alternator.

OR
Explain the construction of 3 phase synchronous motor.
Derive the E.M.F. equation of alternator.

OR

Explain the characteristics of fix armature and moving field alternator.

Explain the circle diagram of 3 phase induction motor.

Why the synchronous motor is a constant speed motor ?
Explain single phase induction motor is not self starting ?

Explain capacitor start and capacitor run single phase induction motor.

Write the application of single phase induction motor.
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